Ch. 4.3 Related Rates Exercise Problems (Day 1)

. Pg.286-291 #9, 10, 22, 23, 35, 38

9. Volume of a Cube If each edge of a cube is increasing
at the constant rate of 3 cm/s, how fast is the volume of the
cube increasing when the lgx;ggb x of an edge is 10 f:m?
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38. Tracking a Rocket When a rocket is launched, it is
tracked by a tracking dish on the ground located a
distance D from the point of launch. The dish points
toward the rocket and adjusts its angle of elevation 8 to the
horizontal (ground level) as the rocket rises. Suppose a rocket rises cﬁ 643&? o ‘H’L?.

vertically at a constant speed of 2.0 m/s, with the tracking dish
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